



이름: _____

날짜: _____ 점수: _____

$$\left(\left(\frac{1}{3}\right)^2 + \frac{1}{3}\right) \times \frac{1}{3} + \left(\frac{1}{2} + \frac{1}{3}\right)^2 =$$

$$\left(\frac{2}{5} - \frac{1}{5}\right)^2 + \frac{3}{5}\left(\frac{1}{3} + \left(\frac{3}{4}\right)^2\right) =$$

$$\left(\frac{1}{3} + \left(\frac{2}{5}\right)^2\right) \times \frac{1}{3} - \left(\frac{1}{2} + \frac{3}{2}\right)^2 =$$

$$\left(\frac{1}{5} - \left(\frac{1}{5}\right)^2\right) \times \frac{1}{2} - \left(\frac{2}{5} - \frac{2}{3}\right)^2 =$$

$$\left(\left(\frac{3}{4}\right)^2 + \frac{3}{2}\right) \times \frac{1}{6} - \left(\frac{1}{3} - \frac{1}{2}\right)^2 =$$

$$\left(\left(\frac{2}{3}\right)^2 + \frac{3}{5}\right) \times \frac{1}{3} + \left(\frac{1}{5} + \frac{1}{6}\right)^2 =$$

$$\left(\frac{2}{3} + \frac{1}{4}\right)^2 - \frac{1}{3}\left(\frac{1}{2} + \left(\frac{1}{2}\right)^2\right) =$$

$$\left(\left(\frac{1}{2}\right)^2 + \frac{1}{3}\right) \times \frac{1}{4} - \left(\frac{1}{2} - \frac{2}{3}\right)^2 =$$

$$\left(\frac{1}{5} - \frac{1}{2}\right)^2 + \frac{1}{2}\left(\frac{1}{2} - \left(\frac{1}{6}\right)^2\right) =$$

$$\left(\frac{3}{2} - \left(\frac{3}{5}\right)^2\right) \times \frac{1}{2} - \left(\frac{1}{2} + \frac{1}{5}\right)^2 =$$



이름: _____

날짜: _____ 점수: _____

$$\left(\left(\frac{1}{3}\right)^2 + \frac{1}{3}\right) \times \frac{1}{3} + \left(\frac{1}{2} + \frac{1}{3}\right)^2 = \frac{91}{108}$$

$$\left(\frac{2}{5} - \frac{1}{5}\right)^2 + \frac{3}{5}\left(\frac{1}{3} + \left(\frac{3}{4}\right)^2\right) = \frac{231}{400}$$

$$\left(\frac{1}{3} + \left(\frac{2}{5}\right)^2\right) \times \frac{1}{3} - \left(\frac{1}{2} + \frac{3}{2}\right)^2 = \left(-\frac{863}{225}\right) = \left(-3\frac{188}{225}\right)$$

$$\left(\frac{1}{5} - \left(\frac{1}{5}\right)^2\right) \times \frac{1}{2} - \left(\frac{2}{5} - \frac{2}{3}\right)^2 = \frac{2}{225}$$

$$\left(\left(\frac{3}{4}\right)^2 + \frac{3}{2}\right) \times \frac{1}{6} - \left(\frac{1}{3} - \frac{1}{2}\right)^2 = \frac{91}{288}$$

$$\left(\left(\frac{2}{3}\right)^2 + \frac{3}{5}\right) \times \frac{1}{3} + \left(\frac{1}{5} + \frac{1}{6}\right)^2 = \frac{1303}{2700}$$

$$\left(\frac{2}{3} + \frac{1}{4}\right)^2 - \frac{1}{3}\left(\frac{1}{2} + \left(\frac{1}{2}\right)^2\right) = \frac{85}{144}$$

$$\left(\left(\frac{1}{2}\right)^2 + \frac{1}{3}\right) \times \frac{1}{4} - \left(\frac{1}{2} - \frac{2}{3}\right)^2 = \frac{17}{144}$$

$$\left(\frac{1}{5} - \frac{1}{2}\right)^2 + \frac{1}{2}\left(\frac{1}{2} - \left(\frac{1}{6}\right)^2\right) = \frac{587}{1800}$$

$$\left(\frac{3}{2} - \left(\frac{3}{5}\right)^2\right) \times \frac{1}{2} - \left(\frac{1}{2} + \frac{1}{5}\right)^2 = \frac{2}{25}$$